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January 2013

All puzzles by Dr Gareth Moore except where otherwise credited

>> The Logic Puzzle Brain Workout

For back issues and subscriptions, visit www.SudokuXtra.com

>> Tents

Full instructions on page 2.
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2 Sudoku Xira

k

If there’s anything you'd like to see in a future issue, just let me know - for example recently
Inequality Sudoku returned following requests on the www.SudokuXtra.com forum. There
are also links on the website to other issues, as well as details of how to subscribe to the PDF

version. All issues are also on all Amazon stores worldwide.
Dr Gareth Moore

\Welcome to Sudoku Xtra 22, featuring 144 varied logic puzzles of a wide range of types, with
a particular focus on Sudoku variants. All of the puzzles are language-neutral and have a unique
solution which can be found via sensible logical deduction, with guessing never required.

This issue I've kept most of the new Sudoku variants introduced in issues 20 and 21 but I've
added in some more variants, including No Donkey Step Sudoku, Diagonal Sudoku, Product
Little Killer, Minus Sudoku, and Killer Sudoku Pro Zero. Popular variants that are back this
issue include Sudoku XV, Kropki Sudoku, Consecutive Sudoku and others. Meanwhile I've
introduced some new logical puzzles types to the magazine, with Tren, Corral and Sheep and
Wolves in Fences puzzles being introduced this issue, along with the giant cover Tents puzzle.

J

>> Hashi

Join circled numbers with horizontal or vertical

lines.

> Each number must have as many lines
connected to it as specified by its value.

> No more than two lines may join any pair of
numbers.

> No lines may cross.

> The finished layout must allow
you to travel from any number
to any other number just by
following one or more lines.

>> Cover Puzzle
>> Tents

Tie a tent to each tree (shaded
circle), such that no tents
touch.

>0

> Numbers at the end of some
rows and columns reveal the .‘
number of tents in that rowor 1 0
column.
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> Tents must be edge-adjacent to trees, and two
tents cannot share an edge. (In this context, an
‘edge’ is a neighbouring grid line).
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Sudoku Xitvra 3

>> Tren

Draw 1x2 and 1x3 rectangular
blocks along the grid lines such
that each number is contained in
exactly one block.

> The number in each block reveals
the total count of spaces the block
can slide into in the direction it
‘points’ (the direction of its longest
side).

> See the example solution below to
understand how this works. For
example consider the 2 in the top
row - it can move into 2 spaces.
Meanwhile, the O at the bottom-
right cannot move into any spaces;
the spaces above it do not count
because it does not ‘point’ this way.
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The next Sudoku Xtra, issue 23,
4 is due out in March 2013. Issues
are available immediately on www.
2 2 SudokuXtra.com [download), then
on Amazon (printed) in the following

2 3 2 days.

0 0 1 The latest download or pre-printed
links are always available at www.
O 3 SudokuXtra.com/magazines.php
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4 Sudoku Xtra

o+ 18x 0- >>
2613514 Calcudoku _
— —T T Place the numbers 1 to 6 (or 1 to 8) once each into every row and
314 1|2 5 | column of the grid, while obeying the Calcudoku region totals.
4 “'2 6|3 11> The value at the top-left of each bold-lined region must be obtained
— T 1 — when all of the numbers in that region have the given operation (+, -, X,
1(56|12|6 4|3 +) applied between them. For - and + operations start with the largest
o number in the region and then subtract or divide by the other numbers.
5|3(4|1 /2|6 - . )
— — > Remember that you can repeat a number within a bold-lined region,
1561432 unlike in Killer Sudoku, so long as you obey the row,/ column restraints.
11+ 6+ 1- 5+ 2+ 4+ 20x 24x 4+ 9+ 8+ 2+
1- 36% 3- 90x 11+ 12x 6x
3- 0- 12+ 2- 7+ 10x
10+ 10+ 5x 15+ 12x 8x 108x 0- 4x
4- 5x 30%x 1- 12x 3x 7+
1- 12x 2- 6+ 20%x
252x |17+ 3+ 12+ 15+ 8+ 11+ 3% 12X
8% 10+ 240x 1- 3- 1+ 2+
7- 20+ 12x 6+ 1344%X 2X
8+ 6+ 7+ 42x 13+
10+ 16x 19+ 5+ 3= 4= 28X 19+
8% 3+ 35x 1- 36X 9+ 16X
6+ 56x% 30x% 5% 12+ 30X
12+ 336X 10+ 18x% 3-
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Sudoku Xira 5

>> Slitherlink

Draw a single loop by connecting together the dots so that each
numbered square has the specified number of adjacent line segments.

- > Dots can only be joined by straight horizontal or vertical lines.

> The loop cannot touch, cross or overlap itself in any way.
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6 Sudoku Xira

>> Consecutive Sudoku

5/3)4[6]2)1]9]8]7
8(7/9(5(3])4 2[]1 6 Place 1 to 9 once each into every row, column and marked box, while
[612(1]9]7/8[4 HE obeying the white ‘consecutive’ markers between certain cells.
711]6|8]al9|3(2]|5
2/4(5(3/1/7)8/6)9] >Consecutive markers indicate all adjacent cells with consecutive
9)8/3,2]615]1)7 |4 numbers, such as 1&2, 2&3 or 7&88.
3/9(8|1/5(6(7|4)|2
1/6]7[4]9]2]5/3]8 >Don't forget that cells without a white marker between are not
4|5/2]|7(8|3]6]9]|1 consecutive.
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Sudoku Xira

3la[2[6]5]7]1]8]9] >> Sudoku XV
1/8/9|3:2/4(7/5/6 Place 1 to 9 once each into every row, column and 3x3 box.
6/5/7(9/8/1:4/3:2
2/15|8/7 6|3 094 > All pairs of neighbouring cells which sum to 5 are marked with a 'v'.
4,3/8(5/1:9|2|/6|7
79 6(2/4 3518 > All pairs of neighbouring cells which sum to 10 are marked with an X
9/7/1:4:-6/5|8x2:3
8/6:4:1/3:2|9|7|5
5/2:3:7/9/8|6:4'1
\ | |
\" X X X X
—V X
4| = 2 X
X X — X \")
v X
X X v } X X
X \" X
X X
X X X v v
X v X X X
X X
} X V
X \' X v
X X v
X 8 X X 9
\" X
X X X X X
\ \ |
\ | |
\" X X
v X
X X \' X
\"
v 8 X 7
X X X
8 9 X v
L v X
v v
X X
6 5 v
v \"
X v 1 6
X
X X X \'" X
\'" X
X X X \" X
| \
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Sudoku Xitva 9

6/9[2[8][5[7[4][1]3 1
§[s]zfe[s[7 4T]3 >> Samurai Star
. Place 1 to 9 once each into every row, column and marked 3x3 box of
6[1(3]2]a|5|7|0|8|631]5/4|2| each of the five underlying 9x9 grids.
7/4/8(9/1/6|2/3|5/8/4|7(6/9|1
3/8/9|4|6(/1(/5/7|2(3/8/9|1|6|4
4/7/5|8/2|9(3|/6|1|5|7/4|8|2|9 > 2 ‘i 1 Te B
PATA DA b e e i 5 e A B bt e Don't forget the ‘hidden’ fifth 9x9 Sudoku grid in the centre of the
8/2/6(5/9/3|1/4|7|2/6/8|9|3|5 pUZZle.
5/9/7|1/8/4|6/2|3|7|9|5|4|1|8
1/3(4(6|/7/2|8|5/9(4|1[3[2|7|6
9/4/6|/2/1|5|8|3|7
2|3/5|7/9/8|6/4]|1
7(1/8(4/3|6|9|5|2

o
N
AN
(&)
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10 Sudoku Xira

a N
A =

g‘ >> Consecutive 13-grid Samurai Sudoku

2 Place 1 to 9 once each in every row, column and 3x3 box of each of
12 the thirteen 9x9 grids.

- > Consecutive markers indicate all adjacent cells with consecutive

Uaﬂmmm-swjoo
v ojm oo &= ~
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numbers, such as 182, 283 or 7&8.

> Don't forget that cells without a white marker between are not
consecutiveNote that, as in a regular Samurai, only those rows and
columns which are within the 13 underlying 9x9 grids are guaranteed

|~|‘wo-nto

o

O|= U|OW N B[O =|0O
DO 0N (=[N ©

=]
~

to contain all of 1-9. Any row or column not entirely within a single 9x9
grid has no restriction on its content. All bold-lined 3x3 regions contain
1-8.
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>> Hashi

Join circled numbers with horizontal or vertical lines.

> Each number must have as many lines connected to it as specified by
its value.

> No more than two lines may join any pair of numbers.

> No lines may cross.

®@| > The finished layout must allow you to travel from any number to any

other number just by following one or more lines.
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12 Sudoku Xtra

>> Jigsaw Sudoku

Place 1 to 7, 8 or 9 once each into every row, column and bold-lined
jigsaw region.

GN S OONO[= WO
O NN ©O|= W |~ O
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6 8|2 4
8 3
4 2 5
1 7 6
2 1 1 6
7 3 1
8 6 6 9
4 1 8 6 7 6
7 2 5 7 4
5 7 9 2 8 4
4 9 7 5
1 7 3
6| |5 3 ]

©Dr Gareth Moore - www.SudokuXtra.com - Issue 22
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2/5/3[1/8]6[4]7]9] >> Arrow Sudoku
8/6/1/9/7/4|5/2 3| Place 1-9 once each into every row, column and bold-lined 3%3 box.
7/4/9(3/2/5|8/1/6
6/34|2/5/7|1]|9 8| >Digits in circled cells must be equal to the sum of the digits along their
1/7/5|8/6/9|3/ 4|2 attached arrows.
9/2/8(4/1/3|6/5|7
3/8/7|5/4/2|9/61
4/1/2|6/9/8|7 3|5
5/9/6/7/3/1|/2/8|4
8 5 = 5
1 4 7
3
4 6 8 2
7
8 2 4
4 6 1 2
9 3 9 4
8 3 2 3
6 7
3 7
3
5 3
4 8
2 9 8 2
7 6 6 3
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14 Sudoku Xitra

N >> Kakuro

'glg Place a digit from 1 to 9 into each white cell to solve the clues.

= 15 > Each horizontal run of white cells adds up to the total above the
189 |» diagonal line to the left of the run, and each vertical run of white cells
17 . .
NN 4|76 |p adds up to the total below the diagonal line above the run.
6 16
2113 9|7 > No digit can be used more than once in any run.
4 17
1|3 89
24 \J17\ 30 4 12 3 30
24 & .
30\/3 8 14 6
58 14 6
3 16
19 82 3 4 17
26 17 22 5
10 14 23
3 17 3
30 8 3
24 16 12\ 6 3 24
24\|15 & &
17 20 > - 6 — 17
16
35 3 11
6 19
27 14 14 4 — 16\/17 — 12\J10
15 3 24\ 20 18\/10
21 20\J15 10 14 3
24 20
S 29 10 8 3 13
15 12 22 24
12 12 16 29 29
4 Z 17 13 = 14
29 S 11\]|22 18
8 16 27
6 7 17 33
17 6 19 7 3 16 1214 4 D
6 20 17 11 17
4 24 14 11
8 13 18 4 N 3 N
4 14 %5 13
21 11 16\/3 17\]12
19 37
10 16 o1 55
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BIE @] [ >> Futoshiki
<@ Place 1 to 5, 6, 7 or 8 once each into every row and column while
@ obeying the inequality signs.
[4] [6 b[2] > Less than ("<”) and greater than [*>") signs between some cells indicate
[3][1] [4] [6] that the values in these two cells must be greater than or less than one
< @<> another as indicated by the sign. The sign always points towards the
= M 2 | mber.
6] (13 ]2] smaller nu
4 < 2 < >
A~ A
<
N A~
& A < K
v
A
A
<
v N
5 > 3 .
> > % b < Kb
Y4 v A
< < <
AN v
N\ A <
<
? N A A A
N Y A v
< A
v v
>
v N\ A%
A\ v v
< < S
- 4 /N A\
> > > > < Kk >
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Sudoku Xtva 17

>> Skyscraper

Place each of 1 to 5, 1 to 6 or 1 to 7 into every row and column.

> Each number in the completed grid represents a building of that many
storeys. Place the buildings in such a way that each given number
outside the grid represents the number of buildings that can be seen
from that point, looking only at that number’s row or column.

> A building with a higher value always obscures a building with a lower
value, while a building with a lower value never obscures a building with
a higher value.

W W ="0DMN

NDN B~ =2
N[ O|=2]DN
NIDO =B W|W
=l =|IN|Pd
DWW | =[N0 =
R[22 DO W[R]IDN

2 2 2 1 3 4 1 2 45 2

3 2 2 2
1 2: 1
2 3 1 4
2 3 5 5
2 1 3 3
2 2 3 4 1 333123
2 1 3 3 3 4 2 2 2 4 4 1 3 4
2 3 3 2
3 12 4
2 4 1 )
2 5 4 1
1 4 2 2
3 3 4 2
) 2 2 3
3433212 33127 22
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18 Sudoku Xira

19257677[3[978¢4] >> Kropki Sudoku
gijAB‘M 19 gg 5| Place 1 to 9 once each into every row, column and marked 3x3 box.
498612 59|17 3| >Two cells with a black dot between contain numbers where one is twice
2/693¢4/1/8|5/9 7|  the value of the other.
9/498|5/2 7|31/ 6| >Two cellswith a white dot between contain consecutive numbers, such
175113 9/6|492 8 as 283 or 586.
8/302/9/695|7 /41| > Al possible black/white dots are given.
Q 197 34"1"8 52| > Between 182 either a white or a black dot is used.
5/7/4|/1/8/2(6¢3 9
¢ O & o . o
# ® | O
(g [ ] O @]
e OO R o | o o
7 ¢
\ 4 . 4 —@ O O
O é) ﬁ) (g @) ] O
® | o e o o
] (g O O
o O—+0— K ° PG
? ? 7
—0 @ @ Ot O O O
J) o @) O @) O [ ] J)
e ° o e o |0 O o
? @) o
O e # —0 o o
? ?
°

T
.

©

T ?Q{{Q? ?
.
°

Q

¢
1

T
?
5
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Sudoku Xtva 19

>> S08S: Samurai Outside Sudoku

13 Place 1 to 9 once each into every row, column and 3x3 box of each of
24 the underlying five 9x9 Sudoku grids, while obeying the outside clues.

s o > Numbers outside the grid must be placed into the first three cells in
the relevant row or column, but not necessarily in the order given.

~ ® ©
W= ©=2NbOO~N

o w|w oo Njojo| = ss o

NIRRT
- oluo o w NN

AN o|~|o|=|o|w oo
Njow(sla|n|ajojo|= o

©|~N(N 2w sojo|a

®
o No|o (N o so|wlNo|so|n o

~N|a|=|ojojw|po|jojwl=lolsNjo|s N o
0 OO0 WOONN O =N NO0w|(w

o alaloo|N| s ojw/N|o

o[p[~[rfelalolejo|o o
=
o
©

sN|wojo|o|o|=(n
©o|N|o|o(w(=Nsloja

126 > See the two-grid example solution on the left to see how this works.

=lw|=s|ojooo/~NN s~
Blojo|s(N[p o|=o[w|=

7 7
9 6 9 8 9 6
4 2 2 8 5§ 37 3 9326942
7 4 3 6 5 1
9 5 4 2
6 57
9 1 4 6
8 6 8 1
7 5|6 8(1 2
7 5 2 7 7
5 6 3
9|3 8 148
2/ 9|7
9 37
4 1|7
4 1 5
8 1 6 5 2 3
8 114 9 4
4 8 6 4 359
3 7
5 5 6
9 4 3 5
2 3 9 4 7
6 526 4 2 35 312 3
7 7 7 7 5 7
9 9 9 8
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20 Sudoku Xira

>> §GSS: Skyscraper Samurai Star Sudoku

142 432243
119(3(7(2(1|/8|5(4|6|3
R 5 S b e M 4 b Place 1 to 9 once each into every row, column and marked 3x3 box of
IRlasigs s ziTislisii84®  each the five underlying 9x9 grids, while obeying the Skyscaper clues.
3|5|/7/4|2|9(6|3(8|1]|7|5/4|2|/9|6|2
2|8|4|5|6|7(9|1(/3|2|4(8|5|6|7|9]|1
3|7/6/3|5/2(1|8(4|9|3|6|7|1|/2|5|3 K i L P
Shesis2 11849188 111285 > Don't forget the ‘hidden’ fifth 9x3 Sudoku grid in the centre of the
3/4(2|8|9|3|5|7|1/6(2(4|8|9|5|3|3
4|6|5|7|1]8]2]|4]|9|3[5|7|6]8]1]2]3 DUZZ|e'
3(1(3|9|/4|6|7|2|5|8(9(3|1|4|6|7|2
53 2/1(4(3/6|7|8|5|9 33 . . .
2[8[5]6[9[2]4[7[1]3]3 > See page 17 for instructions on solving Skyscraper clues.
2|7/9/3|5/8(1|6(2(4|4
315225442

3332525 4 1

O)
—

N NN OTW RN =
-y
N

N O BN OT—2 W

2 3 1 3

523343512
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Sudoku Xiva 21

>> Quad Clue Sudoku

4/6/8|/51/2|7/3/9
3/1/5(7/4/9|6|/2|8| Place 1-9 once each into every row, column and bold-lined 3%3 box.
9/2/7|/6/ 8/ 3|5/4/1
8/4/2|3/6/7|1/9/5| >Wherever four digits are given on the intersection of four cells then
7/5/3|2/9/1|4/8/6 these four digits must be placed into those four cells in the given
11/96/4 58|37 2 distribution. It is up to you to work out which digit goes into which cell.
6|7 4(8/25(9/1|3
5/89(1/34(26/7
2/3/1/9/7 6(8|5|4
1349 3678 2479—
——1467—2678 1238
2379 3458 2456 mm— 3447
1457 —5689 2369
4479
2448 1337 4488
3457— 3567—
1289 1356
3689 2358
4569—1468 5789 1789 2346
1136 4679
2345
3489 1367—1246—
1689 1237
1279 2478 4579——F—1359—1456
1679
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22 Sudoku Xira

>> Hanjie 1
Shade in cells in the 1 2 21 1 2 2 2
grid to reveal a picture 2 2 2612121116121
while obeying the clue 3221223132212 223
constraints at the start 1132311112212 21
of each row or column. 1
> Numbers outside 3
provide, in order, the 3,1
length of every run of 5 4
consecutive shaded cells ’
) 1,5
in each row or column.
3,1
> There must be a gap of 1,9
at least one empty cell 31 2
between each run of T
shaded cells in the same 2,2,3
row or column. 2,2,2,2
1,1,1,2,2
11 1 1 1 2’2’1’1’1
211 1 2 2,2,2,2
2,2 3,2,2
0 93,1
1
1.1 2 2 1 1
5 3 2 32 2 2 2 2
2 2311311134332
311311114114 111
3
3,2
2,2
2,1,2
2,2,3
Clue (top): 1,2
Two wheeler 2,2,4
Clue (bottom) 131
ue (bottom]:
Just hatched 2,3,1
2,2,2
1,1
3,3
7
1,1
4,4, 2
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O |hWN=O

>> Dominoes
Can you place a full set of
dominoes into each grid?

> Draw along the dashed
lines to indicate where
each domino is placed.

> Use the chart to check
off dominoes you've
already placed.

> 0 represents a blank on
a domino.

> Each domino occurs
exactly once in each grid.

OC|OIIN|d P|W
OIN[OTR | WOl
R_lOT|O MO
WO [O(~IN|™ (-
N[O OO WL IN
N[O RP|IFR FPINW
O WoO|O O|lhdh|w
O wWlo|jol. oM IO

O~ WN=O

o0~ WN=O

23461514
4 56 216 3 2
14123630
244140 35
12252500
36 5666 51
03043050
11206143
5 5660410
3422256 3
5212333060
042506600
3415022525
46 146 134
2 6 2 2 2 6 22
5104 36 42
00135501
44106133
356 54105
34245161
6 400 3 6 5 3

>> Subscribe!
Issue 23 of Sudoku
Xtra is out in March
2013, so visit www.
SudokuXtra.com to
subscribe and save
money - and beat
any future price rise!
(Only download copies,
not printed copies,
are available via
subscription)

&

J

©Dr Gareth Moore - www.SudokuXtra.com - Issue 22
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213] >>Sudoku 6x6 Variety Pack

Place 1 to 6 once each into every row, column and bold-lined region.

> Puzzle 1: Regular Sudoku 6x6

> Puzzle 2: Obey the inequality signs: arrows points to smaller numbers

> Puzzle 3: Jigsaw - irregularly-shaped regions replace the 3x3 boxes

> Puzzle 4: No digit can repeat on either of the two grey main diagonals
> Puzzle 5: White bars show ALL consecutive value neighbours (e.g.182)
> Puzzle 6: Killer Sudoku Pro (see P.27; no digits repeat in any killer cage])

NW O™ PO
OIN|W |~ |01 D>
W oo | NP~
AIRPINDWIO O
R o h~oOwW
g~ RPN

[] [] A 2 [] fi‘ —+ '_'_'ZZZE :r'ei'_"i ; i”zoxji

| I

651 A S O O
3|6 2 |
6 U U U i iiﬁ + i.i::g E-:;;_::::i_i::g
D04l 00 | T

Get new puzzles
every day on my
interactive
puzzle website:

puzzlemiXicom

new puzzles online every day
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Sudoku Xira 25

5[4[972]8[7[3[1]6] >> Jigsaw Sudoku Extra Regions
38 79|56 1(2|4| Place 1 to9 once each into every row, column, continuous shaded
2(5(14|6(3[|9/7|8| areaand bold-lined jigsaw region.
9/3/2(6(7|/5/8 4|1
4/7|8/3/1/9/5(6|2
6|13/ 8(4|2(7/9|5
8|9/4|5(2|1|6|3|7
1(2|6/7/3(8/4/5|9
7/6/5(1/9/4 2 8|3
3 2 4 2
6 2 7
8 8 3
6 5 2 7 6 1
7
2 4 1 4
1 3 5 9
1 7 2
2 3 36 1
19|56 2 3
2 8
7 81 5 5 4
8 7
5 3 1 8
6 7
5 6 3 2 8
1 7 3
5 8|4 86
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26 Sudoku Xtra

9/8[7]5[2]6[3]1]4] >> Quad Max Sudoku
3/1,6|4|9|7|2 58| Place 1-9 once each into every row, column and bold-lined 3%3 box.
2'4/5(31,8(796
5/9/2(8/7/1(4]6,3| >Ifthe value in a cell is greater than its three touching neighbours in any
6/7/1[9/4/3|8]2|5| onecornerthan a greaterthan arrow is shown in that corner.
8/34(6/5/2|1 79
7,6/3[/1/8'5[(9/4 2
4/2817,6[9|5/3|1
1591234687
L 6 L 4 L
I — |7 1 [Ty ] (I
L 6 L 1 | L_7 L
! r-X ™ el Wy
39 |, 6 4 9 [ 126
r 7 1 6_, 1 1
L1 L] L Al L L L
™ ™ 1 |_
_l 1 3 | L 5 L L 6 L
— | 2 1 7 1 1
[ [ L
1 TN ol =l ! ™ ™ 1
5_.| 2 L 8.\ 7_| 3 L_9_| 2 L L
1 1 1
_l 3 | L 2 | I | S [ 4
|‘ 1 " 1 1 3 1
4 L L] 5 L 6
1 1 I 1 3 ™
L L L
17 -3 1 " |_
J 6| | 4 L
fall 71 r 1 Bl 1
_l l_9_.| 2 L |
1 1 1 1 4 1
L] L L L
1 ™
L 1 _ 1 L
1 3 1 1 1 ™ 2
L L L | L L
7 3 1 1
L L L |
5 I | | I 3 1 5_, 1 r
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28 Sudoku Xira

7]a]3[1]5]6[2]8]9] >> Diagonal Sudoku
6/5/2(8(9/4|7 31| Place 1-O once each into every row, column and bold-lined 3x3 box.
18/9(3/7 2|6/5|4
9311261814751 > Nodigit can be repeated along any marked diagonal fine
SPIRRESE
3/ 1/8|/4/2/5(9/6|7
27/ 6/9/1/3|5(/4|8
- 5 3 8| /3] [1
3 5
3 2 3 6 |7 8
6 4 2 4
2 7 1| |1 6
LR 4 1] |3 2
6 8
8 6 1 7| 2/ |6
6|2 3(9 46 3
9 7 9 1
6 7 13
1 4 7 4
6 5|3 5|2 119
4
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Sudoku Xiva 29

5[9[2[1]8]4[3][6[7] >>No Donkey Step Sudoku
18319671542 Place 1-9 once each into every row, column and bolcHiined 3x3 box.
86 8la 2 8|7 8] reimoing o 45 e o e ey
7/2/8|/6/1/9|4/3/5
8/ 65/1/7/3/2(6/9)4
2/4/6/5/9/1/8/7|3
9/3/7/8/4/6/2/5|1
2 5 8 5
1 9
1 5 7 4 8
8 219 3|7
3 8|5 4127
6 916 7|8
3 8 2 5 6
5 4 8
9 7 6 2
8 9 4
415 3|2 1 3 7
5 3 2 8
4 7 8 9
6 1 1 3
3 5 2
9 1 9 4
1(9 5|8 6 1 8
1 8 6
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30 Sudoku Xira

1[2]8]7]5]/6[3]4] >> Sudoku 8x8 & Sudoku 10x10
3/5/6/4|7 1 2|8 Place 1-8 or 0-9 once each into every row, column and bold-lined 4x2
5471|123 8|6 or 5x2 box.
2 8/3 6|15 4|7
6743|8251
815 2|64/ 7|3
4,6/ 2/8|/3 7 1|5
7/3/1/5|/4 8/ 6|2
4. 2 113
5 6 3 7 3|2 8 4
2|6 4 3 5 6
6 2l
112 1 2
8|5 1 4 8 3
3 1 5 6 2 4 71
7 4. 7|6
7 2 0 7 3 8 0 9
5 0 8 6|1 8 0 2 3
1 6 3 9 2 8|7 0
7 9 0 2
4 5|6 8 7 6|2
119 0 6 5 7 3
9 25 6 7
1 9 8 1 4|0 5
0 6 1 5 3 8 70 6 1
8 2 2 4 6 9 8
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32 Sudoku Xira

7]j2]5]6]4]1][8]3]9] >> Worm Sudoku
3/8/1|7/5/9[476 2| Place 1-9 once each into every row, column and bold-lined 3%3 box.
94 6[(2/38[(715
8/9/7(4 1/2|3/5|6| >Thevalues of the digits along each worm must decrease by exactly 1
4/5/2|8/6/3(9|7 1 in each cell from the head (marked with eyes] to the tail. For example,
16/ 3(9/7/5|2/8 4 8765 is valid but 8754 is not.
5/1/9(3/2/7|6/4-8
2/ 74/5/8/ 6|19 3
6/3 8(1/9/4|5 27
8 5 8 ...
-4 e
4 9 6 8 2
9 5 1
(]
2 9 - 2 3
3 2 9
9 2 1 3 8
7 p e o
(]
1 5 <
7] 19 2 E
7 P ’ 8
[ ]
[ ]
3 6 9 7 4|2 5
e o
& 4 3 9 7
8 4 6 2 8 6 5
[ ]
e o
2 3 .
5 |7 - 8
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102102311 > Minus Frame Sudoku
2 g g ; z Z ; ? 2 g 2 Place 1-9 once each into every row, column and bold-lined 3x3 box.
6(1/9/2(6/3/8|4/5/7]|-=2
2|6/5/9|4/1/7[3/8|2|3 > Values outside the grid reveal the result of subtracting the remaining
4/2/1/7|3/ 8/ 96453 numbers from the largest number found up to the first bold line in the
1148 31526971 adjacent row or column.
0(8/2/6(7/9/3|5/1]4]|0
2|8|4|/5(1/6/2|7/9 8|6
119/7/1[8/5/4[2/3 6|1
21 00-2-10 5 -2
1 42 214 3 -1-3 01212 0 1 3 -3
2 -2 1
-2 5 |4 2 4 |-
-1 -2 9 -1
-1 3 5 1 2
4 3 8 5 0
2 1 0 -3 1
-5 4 4 0
-1 7 8 6 3, |1
) -2 2
11500 -1-100 0540 -2-1210
2 2 -1-13 -10 2 -5 -1 -2 4 -3 2 -2 4 0 -1
219 6|-3 -4 -1
-1 o -1 2 2
0 -6
9 6 -1
-2 6 6 3
3 7 1 -3 -
4 -3 -3
-3 0 -4 4 2
0|7 9(4 3 2
0 2 -30-411-24 2 2 -102 10 2 -5
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6/1]8[4]9/7[32]5| >> Offset Sudoku
2|4 3(5/8/6|1|7/9| Place 1-9 once each into every row, column, bold-lined 3%X3 box and
5/7/9|2/1/3|6|8 4| offset region
18/6/9/7/4/2/5 3
9/3/7(6/5 2|41 8| >There are nine offset regions, each one consisting of the set of
4/2/5(1 3/8(7/9/6 nine cells that are in the same relative position in a 3x3 box. So,
76/ 1|8/4/9(5 3|2 for example, the nine cells each in the top-left position of a 3x3 box
3/9/4(7 2/ 5/8/ 61 together form one offset region, and the nine cells each in the centre of
85/2|3/6/1(9/4|7 a box form another.
8 5 7 4 1 3 8 7
2 2 £ 5
7 9 6
1 1 9
7 9|2 5(4 8 8 2 6 1
8 7 8
5 7 3 3
5 3 9 7
6 3 8 5 4 2 1 8
7 8|6 1
1 9 2 8 9 5
6 1 6|3 8|7
8 9 1 8 2
8 3 8
6 3 97 4 (3 1
4 1 59
5 9 6 7 1
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16 17\]16 >> Kakur‘o
6 1917 8l9 Place a digit from 1 to 9 into each white cell to solve the clues.
13 19
AIB 9N3(917 > Each horizontal run of white cells adds up to the total above the
1/8|9|» diagonal line to the left of the run, and each vertical run of white cells
NN 4716 adds up to the total below the diagonal line above the run.
6 16
> 21113 = 9|7 > No digit can be used more than once in any run.
1(3 8|9
9 33 5 30 13\ 15 17\ 12
7 12 13 14
16 \J21
8 17 5 5 6
12 14 19 12
20 15 13 20
16 14 5 4
14\ 27 10 24 15 17\]16
26 27 22
25
13 4 16 24
12\J10 4 12
20 12 22
16 5 3 17
12 10 4 16
14 21
15 12 6
16 \J14 \J19 31 29\/10 16
22 13 6 13
17 23\J 20
23 12 35
25 4
11 16 11 13
22 3
24 17 10 9
10 12 17 10
14 6 14 4 11
11 14 11 13

©Dr Gareth Moore -
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1]3]2]4]8][5[7]6]9| > Thermometer Sudoku
47 8(1/6/9|3|/2|5| Place 1-9 once each into every row, column and bold-lined 3%3 box.
56/9|3/2 7|1 8|4
9/2/6(7 4|35 1 8| >The value of the digits along each shaded thermometer must increase
7/5/3|/81 6|49 2 cell by cell from the bulb (lowest value] to the head (highest value). This
8/1/4(5/9/ 2|6 7|3 also means that digits cannot be repeated in a thermometer.
2/8/1/6 34|95 7
39 7|2 51(8 /4|6
6/4/5(9/7/8(23|1
1 8 9 7 6 4
7 2 & 3 7
8
4 1
7 8 6 2
9 1
6
9 4 6 2 3
6 7 1 9 3 1
6 1
5 8 1 9
95 4
7 8 8
8 9 7
4 5 2
96 7
4 5 8 7
A 9

©Dr Gareth Moore - www.SudokuXtra.com - Issue 22
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2]6[3[1]5][8[4]9][7] >> Non-consecutive Diagonal Sudoku
45 8|9/6/7|3|1|2| Place 1-9 once each into every row, column and bold-lined 3%3 box.
9/1/7|/4/ 2 3|56 8
7/3/6(2 8/9|1|5 4| > No two diagonally-adjacent cells may contain consecutive numbers,
12/5|6/7 4(9/8 3 such as 182 or 5&86. (Horizontally or vertically adjacent cells can
8/9/4(3/1/5|2 7|6 contain consecutive numbers).
5/4/9|8 3 6|7 21
6/7/2|54/1|8 39
3/81|/7/9/2|6/4|5
3 4 6 8
7
1 2 6 53 9
1 6 8 4 1
9 2 1 3 7
5 1 7 138
9
6 7 8 2k
3 5 9 5
2 7 2 6
9 2 8
1 6
4 5
6 8
3 6 3
5 3 4|7
8 2 8 4

©Dr Gareth Moore - www.SudokuXtra.com - Issue 22
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2/6]8[5]/9[3[4[1][7] >> Sudoku X
5/3/7|1/6 /4|9 2|8 Place 1-9 once each into every row, column, marked diagonal and bold-
4/1/9|/2/8/7|5/6|3| lined 3%3 box.
9/8/2(7/3/6(1 4|5
3/5 4|8/ 1/2|(7/9|6
6/7/1/9 45|83 2
1/2/3|4/7/8l6/5 9 For more Sudoku variants
7'4/5|l6/2/9|3/8/1 check out my puzzle blog at
8/9/6/3 51|27 4 [www.gar‘ethmoore.co.uk J
1 9 2 8 3 4 1
8|1 3|4 1 9 8
2 5 7
9 4 9 6
5 7 48 9 2
3 1 8
8 9 1
6|3 712 2 6
3 7 6 5/1|8 7
6 3 3|6 914
8 1
2 2 9 6 8
8 5 9 5 2 7
5(3 711 7 1
4 9 5 7 6 3
8 9 5 7 4
7 4
9 7 712 3(8

©Dr Gareth Moore - www.SudokuXtra.com - Issue 22
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>> Wolves and Sheep in Fences

Draw a single loop (fence) by

connecting together the dots so ° ° ° ° ° ° ° ° °
that each numbered square has 3 S S S 3
the specified number of adjacent

line segments. Make sure that the ° ° ° ° * * * * *
sheep are all fenced off from the 3 w
wolves. ° ° ° ° ° ° ° ° °
N N 2 2w 2 2
ots can only be joined by straight ° ° ° ° ° ° ° ° °
horizontal or vertical lines.
S w 1 w
> The loop cannot touch, cross or ° ° ° ° ° ° ° ° °
overlap itself in any way. w 1 S W
> All sheep, ‘s’, must be inside the ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢
completed loop. 3 3 S 2 3
° ° ° ° ° ° ° ° °
> All wolves, ‘w’, must be outside the S O
completed loop.
° ° ° ° ° ° ° ° °
. o 1 w 8 S 3
3 2 ° ° ° ° ° ° ° ° °
wo ) ) w
s 3 s
¢ ¢ ° ° ° ° ° ° ° ° °
B2 8 2 2 W S 1
1 3 ° ° ° ° ° ° ° ° °
* w w1 w 3
° ° ° ° ° ° ° ° °
- 3 w 2 2
Check out the discussion ° ° ° ° ° ° ° ° °
forums at www.SudokuXtra. S 0 3 2
com/forum to chat about ° ° ° ° ° ° ° ° °
these and other puzzles with S
fellow readers! 1 2 2
S ) ° ° ° ° ° ° ° ° °
2 1 S 2
° ° ° ° ° ° ° ° °
3 S 2 § S
° ° ° ° ° ° ° ° °
2 w § 2 3
° ° ° ° ° ° ° ° °

©Dr Gareth Moore - www.SudokuXtra.com - Issue 22
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2]8[7[3][671][9]4{5] >> Sudoku Inequality
3/574:2/9/7:6/8 1 Place 1 to 9 into each row, and column and bold-lined region while
619 1:4/5/877]2¢3 obeying the inequality signs.
4/1/5|/8/3|6(2/9|7
712181941513 /146 > Less than ("<") and greater than [*>"] signs between some cells indicate
9:6:3(1/7/2]14:5¢8 .
539171 4l8:6 2 that the values in these two cells must be greater than or less than one
8la6l5/2:3[1/7t0 another as indicated by the sign. The sign always points towards the
1172 6‘8%9 5/3:4 smaller number.
\ ! | \ \ \ \ !
> < < < ? > 2 X
—\ % AV /N AN
< <2 > < < 2
% AN\ AN——/N\— % /-
> < ? 2 < ?
? < ?
—/\ /N /- /- /-
< 2 < ?
% /N % /\—] —/\ /N /N /\—]
i ] % i
VT v v \ o T ~ \ Y
? > 2 < < X< ¢ < X
—\ /N —\/- /N %
2 2 2
/- /- /- /- NV /N /N /\—]
P2 : P
\ \ ! \
< ? < ?
— A\ % A——A
< > > < < ?
72 < < < 2 ?
N N N N N - v ‘ N v
2 2 < ? > <
N/——/\ —/\ /N /N
< <
% /N /N NV——N\ %
? < > 2 ¢ X
< < >
—\/- /- /- /- /N % AN—T—\—] AN—— AN\ /N\—]
> 2 ? ? < ? <
/N AN——/N\ % \/— —/AN\——/\ % /N
< ‘< > )\
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96_| '12(_)| 3_| 30_| 4_|
L144
L100
L.20
L12
L3
|—2 I-6 |—15 |584 ‘ll—500
2191 18(_)1 48_! 5_| 2_1
L_36
L.192
L25
L.6
L6
|—‘I |-15 |—96 I—60 |—96
360 54_! 24_! 20_| 2_1
L.54O
L320
L‘IO
L.6
L3
|—2 |-18 |—80 I—60 |—12

©Dr Gareth Moore -

>> Product Little Killer
Place 1-6 once each into every
row, column and bold-lined 3x2
box.

> The result of a multiplication
operation on some diagonals is
given, defined as the product of
all of the numbers in the diagonal
pointed to by the arrow.

> Note that numbers may repeat
in a diagonal, subject to the usual
rules of Sudoku.

120 16(_)I 180 6_| 1_|
6 4]2[5/3[1]sm
|1/ 35|46 2|
:[3/5[1]2]4]6].=
w'|4/2/6|3/1 5|
w0'(2/1/4(6]5 3]+
(563|124
5 12 12 24 360
www.SudokuXtra.com - Issue 22
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>> Hanjie
Shade in cells in the grid to reveal a picture while obeying the clue

2.2 constraints at the start of each row or column.

0

1 > Numbers outside provide, in order, the length of every run of consecutive
1,1 shaded cells in each row or column.

5

> There must be a gap of at least one empty cell between each run of shaded
cells in the same row or column.

Clue:

This little piggy

[
NN R R
N RPN R
N W R R
N RN R
P NNN
NN W R
WNWRE R
NER RN PR
PR R RPRNON
P WER NP
P WERN R
P WRRPNPR
PR WERN
P ANRE AR
~N D RN
N O~
fo I SN
NN RN

N W
PN WRE
PFPVONDWRN
PNERENARN
P NN O N
PNRNPFPN
P Wk NPRPEN
B WN O
PWwWN SRR
Pwk Rk BR
P wwB N

1,2,2,4/1,1,1,3,1
3,2,1,3,1,3,1,4,1
1,1,3,1,1
1,4,1,1
1,3,1,1,1
4,1,1,1
3,3,13
1,2,2,1
2,31
1,1,2,11
2,2,59
2,2,9
2,1,3,8
3,4,7

3,4,7
1,1,3,2,6
2,1,2,1,3,4
7,3, 4

10,1, 3

2

1,3

1,37
2,3,2,1

7,2

8

6,3,5

53,9
1,1,2,2,9
53,3

15,10
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11

>> Corral

Draw a single loop along the
grid lines such that each clue
number can ‘see’ the given
number of cells within the loop.

> The number of cells that a clue
can see is the total count of
interior cells in both horizontal
and vertical directions from
that cell, including the clue
cell itself. Look at the example
below to see how this works.

> The loop cannot touch or
cross itself at any point - not
even at a corner.

Hint: You will probably find it
easier to solve by shading cells,
as in the example, rather than
by drawing in the loop.

5 415
3 8
5
8 3
4
8
2 7 8
4 5 5
6
2 3 3

Puzzles on this page copyright as credited above. Magazine ©Dr Garetahtoideonavw BusthaBudaladdna.edesue |BRie 22
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krazydad.com/ puzzles

>> Krypto Kakuro
Krypto Kakuro puzzles are a cross between a crossword, a sudoku and a cryptogram.
> Each digit has been substituted with a letter. To solve the puzzle, you must figure out what digit each

letter stands for, and then solve it like a regular kakuro puzzle.
> Each “word” in the crossword contains only the

digits 1 thru 9, and the same digit will never

E El
repeat within a word. The sum of the digits of
G G each word are shown on the left and right sides
B &) of “across” words, and at the tops and bottoms
G AG of “down” words.
D
E
F F J J
C A Al |IBl_|C|_|D|_JE
B
4 B o FLGLIH[] 1 ]J
El D
G AG
CD AE
© 2011 KrazyDad.com
DD G HI c BJ BG El
DB DB C c EJ EJ
DF DJ
DJ A DJ EH EHX}<EG G EG
DB DE
DD G C El
DD B DD DB ‘ DB DF DF
DG DG DA B J DA EF EF
DB DE EJ H
DF
AA AA>  <{EB EBX EJ F EJ
HI DB DE
Al Al El El G B G
DJ DB DE EJ BJ BG H

© 2011 KrazyDad.com

© 2011 KrazyDad.com

Puzzles on this page copyright as credited above. Magazine ©Dr Gareth Moore - www.SudokuXtra.com - Issue 22
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krazydad.com/ puzzles

>> Altair Slitherlink

Fill in some of the dotted line segments to form a meandering path that forms a single loop.

> The path does not cross itself, branch, or touch itself at corners. The numbers indicate how many
line segments surround each cell. Empty cells may be surrounded by any number of line segments.

This tiling is from a traditional Islamic design and appears in the books “Altair Design” by E. Holiday
and “Arabic Geometrical Pattern and Design” by J. Bourgoin.
Need some solving help? Visit krazydad.com/ slitherlink

AR 3% g RV I
Coor2 T 2 T2

el eld © 2009 KrazyDad.com

Puzzle on this page copyright as credited above. Magazine ©Dr Gareth Moore - www.SudokuXtra.com - Issue 22
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>> Feedback A

If there are certain puzzles you'd like to see - or even not see! - in a future issue of Sudoku Xtra
then why not send me an email and let me know? Just write to Gareth@SudokuXtra.com.
Alternatively head on over to the Sudoku Xtra discussion forums at www.SudokuXtra.com/
forum and join in the puzzle discussion. For example if you're stuck on a puzzle, why not ask
for help? There are also announcements posted periodically giving details of future issues or
related content, such as the Sudoku Xtra Specials books of particular Sudoku variants.

>> Getting hold of Sudoku Xtra

Issue 23 will be available in March 201 3, but if you don’t already have all twenty-two issues of
Sudoku Xtra then there’'s no need to wait for more - just head over to www.SudokuXtra.com
and you can get hold of the previous issues too!

Each issue is available online for immediate download, or you can obtain a pre-printed copy
from Amazon (with free shipping, if eligible).

k

>> Xtra Calcudoku

Place 1 to 8 once each into every
row and column.

192x% 70%x 144x% 2+ 18+ 12+

> Calcudoku cages are given, where
as usual there is no restriction
on repeating a number within 12+ 33+
a cage but the given value must
result when one of the four
operations +, -, x or + is applied
as given. For subtraction and
division start with the highest
value in the cage and subtract/
divide by the rest.

35+ 7+ 42x

30X 384x 0- 126x
> No number can repeat in a
marked diagonal.

5- 1- 280x%

19+ 105x  J5+ 18x

©
X
S

o
[SEEHES

120x  [42x

™|

8

]

= ||| W

o2 |lw|lo |

oo [N aw = ]|;

©|
?

?|

BIN|= |0 | oflofN|o

Y| o8

S

~ 7

4

olw|joa|nd oV s | =

wlo|N|o | = |[sN |
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>> Solutions for pages 1 to 5 )\
For more puzzles check out
www.puzzlemix.com
A A A0 J
AOOA O AOOA O OA 5
O IAQ|1
A AOA A A 0 0
@) @) AO A O 1O AQ|s 11
O AOOA o 0 Al A 4 1|s| [2
Al O AOA ool 0A 0|2
A A oA A 4 1 1
Al O oA A 3| |s
oA © AO OA ©OA O 1 2] o
Al AOA Al O Al |5 1] o3 0
o AQ OO A O A OA O |4
A @) 1 o] Jo
oA OA O AOCAOCOA A 3 1
A o A @) L 0 2
O |AQ AOA A A5 LT
AOA O AQ O3 2
AOA @) AQ|3 2 2
@) AOAOAl AO O|4 2 3 2
AO| |0 oA A UM ]
3 2 5 2 7 53 7 0 8
5]6[2]4]3[1] '11_1 3[a[5[2|[1]a]5]2[6]3 i _ L
346 1|2]|5||2|3|5|1]4]|6|[3]5]2]|6]4[1
4[3]s5]e[1[2]|5]|6[4[3][2]1]|[5 2]4[1]3]6]] i 7
1|2]|3|5/6|4a||42[1]5]6|3]||2]3|6[5|1]a]]" N ’
‘2(1]|4/3|5/6||1|5]|2|6/3|4|[a|6|1|3]|2[5|[ T " N
6|5[1[2]%]a]|a]a]6[2]1]5]|[6]1]3]a]5]2
1 2| [3] |3 2 2] |3 1 |3] 3
3] [3] | 3] 3]2] 2 2| 1 3
2 2| 11 [3 1[31 2 1|[ 1] 2
3[21 [ [23] ‘1 3] 3] | 3]1 2]1 ]2
|2 2 221 |3 2| [2 |[3_ 1| [31
2 21 2 31 1 1 2 2|1 2 1
2 |2 3 1] 12 [3[3] ]2
3] [2_ 2 2 | 1 J2| 1 Jl2 1 1
If you're enjoying the variety of puzzles in each issue of Sudoku Xtra then why not save a bit )
of money by signing up for a subscription on www.SudokuXtra.com. And that way you'll be
automatically emailed each new issue, fresh off the virtual press! P

©Dr Gareth Moore - www.SudokuXtra.com - Issue 22
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>> Sudoku Xtra

www.SudokuXtra.com provides a full list of all the puzzles featured in each issue, with most
containing around 150 puzzles of over B0 different types.

Download in PDF form from www.SudokuXtra.com, or pre-printed from your local
Amazon store. All pre-printed versions are supplied on large, high-quality paper.

Specigls

>> Sudoku Xtra Specials

A wide range of special edition books featuring unusual puzzle collections
such as Sudoku 16x16, Sudoku 25x25 and others are also available. See
www.SudokuXtra.com for both pre-printed and PDF purchase links.

>> Christmas Hanjie: 50 Festive Picture Puzzles
This special themed book of Hanjie logic puzzles also includes full solving
instructions and an introductory guide to Hanjie puzzles. A holiday season
scene or picture is revealed as you solve each puzzle, with a cryptic clue
alongside each puzzle to give you a small hint as to what is concealed within.
No matter the time of year, with 10 big 30x30 puzzles and 10 even larger
40x40 puzzles there’s plenty here to keep you busy! See www.SudokuXtra.
com.

>> 200 PUZZLES series

If you know what you like then these great value books full of the same puzzle type might be just the
thing for you. Visit www.PuzzleBooks.org for a comprehensive list. Available printed from Amazon.
As the name implies every book contains 200 puzzles, all printed at a large size on top-quality paper.

>> 101 SAMURAI series

If you like giant puzzles then this is just the thing for you! Most puzzles consist of 5 overlapping
Sudoku grids, while the giant 13-grid Samurai book is equivalent to over 1,000 Sudoku in one book!
Available from Amazon, with a full list also available on www.PuzzleBooks.org.

PuzzleMix.Com - Online Play and Community

At www.PuzzleMix.com you can play a wide range of puzzles online, and compare (if you choose] your
times and rankings with thousands of other players. You can also
comment on and discuss the puzzles with other solvers. There are A"
at least 4 new puzzles every single day, as well as fixed ‘sets’ of o
puzzles you can add to your collection at any time.

>> Brain Training

Visit www.DrGarethMoore.com for details of my brain training
books, each featuring a wide range of puzzle types including word,
visual, creative, logic, number and memory exercises.

Email Gareth@SudokuXtra.com to get in touch.

©Dr Gareth Moore - www.SudokuXtra.com - Issue 22




